GENETICS AND EVOLUTION/ 3mrepafarht 3k s /DNA & RNA

1.Genetics is —
SefeFa g -
A) Genes + alleles/STleT +TelTeT

B) Heredity + Variation/ﬁ@ﬁ'ﬁl@T +THeeTdr
C) DNA + RNA
D) Dominant + Recessive/fa'qtﬁﬁ+ IEEILED

2. Genetics is the branch of science that deals
with the study of —

AR [T i ag Ar@r g i
AR & g § Gafaa §-

A) Relations between plants and the

environment/GeIT 3iT 9ATaROT & ST GaeT
B) Inheritance and variation/ a;‘\’ﬂﬁ_glmﬁ
[EIECER

C) Cell structure/anfR1erT IITT

D) Thermal structure/23ol GIT

3.The scientist known as father of genetics is :
SAEHFT & AT FH FTH A ST & ?

A) Johnson/STTsT8sT

B) Gregor Johann Mendel/39TR SiTeT H3oT

C) F.B Morrison/® ot ATRIT

D) Morgan/HTaTeT

4.Gene is :

ST g :

A) A segment of DNA / DNA &T U @3

B) A segment of DNA and Histone/ DNA 3R

fREeleT T Uah WS

C)A segment of DNA ,sRNA and Histone/ DNA

,sRNA 3R fREala 1 tah @3
D) All of the above / 39ad it

5.Gene word is given by —

STt 216G &l FicTdTeeT fehdret foham 2
A) Waldayer/desaX

B) Mendel/ ST

C) Johansson/ SgTAgT

D) Straussberger/ TEIHEIR
D) Reverse Nucleic Acid/ﬁﬁﬁﬂ%ﬂﬁg

6. Genes are situated on / iG]
W Eydgag
A) Chromosome/ U

B) Mitochondria/J:llséfléﬁulirsal
C) Plastids/ Telf¥es

D) Ribosomes/ TSaIEIH

7. Genes are made up of/mmaﬁm%‘?
(a) nucleic acids / FJWU‘@'S’
(b) proteins/ eI

(c) carbohydrates/ FTEgISSE
(d) lipids/ Teif@s

8. Consider the following statements

/AT el ) AaR &Y

1. Homologous organs are common origin with

different functions. / TSl 3791 [AffeeT st
& AT ATHT AT F T & |

2. Analogous organs are different origin but
perform similar function in different organisms.

/ 3TT&Y 33T 3TTIT-3719T e Bl @ olfchat
et Sfal & HAT FRI AT

Which of the statements given above are
correct?/ 3T fEU T FHUAT H F i AT AT &2

(a) 1 and 2 none
(b) 2
()1
(d) 1 and 2 both

10. Transfer of genetic information from one
generation to the next generation is by-

TR Hehcll T ST&ITUT T Ueh T &
T e e TUTATeR 0T fohdreh SaRT gl 82
a) RNA
b) Codon JCaEIG
c) DNA
d) Messenger RNA / #AIKRNA

11. Which section of DNA provides information
for one protein?

DNA T ST HT 19T Teh WIENeT & foTT et
TeTel T &7
(a) Nucleus /=18
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(b) Chromosome /3[0THA
(c)Trait /faASar
(d) Gene /SireT

o Asection of DNA that provides information
for one protein is called the gene.

e The DNA in each chromosome constitutes
many genes.

e DNA [ Tg {7 ST Ueh WIEl o ToIT el
SETeT T 8, SHeT gl 5 |
o Ycdeh IURLH & SATAT H g ST g1 B

12. What is the full form of DNA?

SITTT T Pool Ble FITE?

1) Deoxy Nucleic Acid /ﬁmmﬁﬁg
2) Di Nucleic Acid/ﬁmﬂﬁg

3) Diribonucleic Acid/%ﬁ@ﬂlmﬂﬁg

4) Deoxyribonucleic Acid

/amm—qm tfas

DNA, or deoxyribonucleic acid, is the
hereditary material in humans and almost
all other organisms. Nearly every cell in a
person's body has the same DNA

o  TAT, AT NHFHARIS Yol TS,

AT AT oTarstar Fol 31 Sy
SRATTITT FTHIT & | Tl g febet o QR T
STITHIT X HITRAHT T STV Ueh ST BT &
Sugar
Phosphat
Backbone
Base par
Adenne Thymine

13. Who synthesized the DNA in- vitro?
i3 AR A e Tehr GRAVOT fohde
fmam?

a) Arthur Kornberg/ﬂé@ﬁ‘sﬁ%

b) Edward Jenner/USdsalek

c) Robert Hooke/T\I'El’c“,?_)H?
d) Joseph Lister/STEHIoEeT

14.DNA is discovered by —

DNA &1 @IT fohdet 1 -
A) M.friedrich

B) Landsteiner

C) Waldayer

D) James Waston

15. First time DNA was synthesized in laboratory
by?
Tgell IR STTTT ol GARTRITT H Heal ¥ fhar
IGT YT?

a) Miller/ﬁl?ﬂ

b) Khurana/@JTIFIT

¢) Kelvin/&leasT

d) Robert Hooke/ﬂaég?

16. DNA, the genetic material, was discovered
by

IT AT

(a) Altmann/3TecH

(b) McLeod /&foras

(c) Fredrick Meischer/ShsRep AR

(d) Griffith/faIftRer

17. Who proposed 3-D helical DNA model?
3 - 31 gforehel STaAT Alse fraa wedTfad
feram am?
(a) Franklin and Wilkins/ SharfereT3iix
fafesra
(b) Watson and Crick/dTedeT 3R fohen
(c) Yanofsky/) ) TTATGFEHT
(d) Meselson and Stahl/ ATedT 3T
Elgel

18. Who discovered the double helical structure
of DNA?

SITAT T QIgT YTIGR HISAT hl Wit Tt
e
1) Rosalind Franklin /Q1@Teis tharfeleT
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2) Maurice Wilkins /A& RAfeara

3) James Watson and Francis Crick/??-_x‘:ra\ﬁﬂ?-f
3R wifad fohen

4) Friedrich Miescher/5psRe AR

e  Watson and Crick developed their ideas
about genetic replication in a second article
in Nature, published on May 30, 1953. The
two had shown that in DNA, form is
function: the double-stranded molecule
could both produce exact copies of itself
and carry genetic instructions.

o aredeT 3R foheh ¥ 30 AS, 1953 Y YHITAT
TR A Teh GER o H a1k Ffciepict
& IR F 319+ faart = i frar| gt
o1 fe@mar o1 i SvaAT #, ¥ FI T8
STCI-EES8 370] TG T HNh TaT 3cdeet
Y Fehll & 3R T TRIh o ST Fehell 8 |
fordar|

19. DNA contains

SuAT F AT &

1) pentose sugar/Jer QHT

2) hexose sugar/geFarat QIR

3) erythrose sugar/TRYST QR

4) sedoheptulose sugar /@?I%'QJT’I)IH QAT

o The Pentose sugar present in DNA called
deoxyribose contains five carbon atoms.
The sugar is present on the hydroxyl group
on the 2 carbon of the ribose. The crucial
nucleic acids like DNA and RNA are made
with the help of Pentose sugar ribose and
deoxyribose present on the both structures.

o SIFANISSIST ATH ST H Alolg Jerg
IR H 1T hTeleT TRATI Bl & | ASeloT & 2
FIeeT IR GISgITrd el Hg H AT Al
gl 1 STAT 3R IRTAT S Ageaqur
=gfFereh TS el TR R Al
TS IR g sTet AR S3iTeRiRTS ST T
G AT &

20.Polynucleotide chain of DNA contains-

DNA T Gl b oTaiIgs Hell & QMM § -

A) A nitrogenous base, deoxyribose sugar and
phosphate group/ Teh o sajlaaa IR,
3Tt QT 3R wreRE e

B) A nitrogenous base, ribose sugar and

phosphate group/ Teh sTT8¢Ioleld TR, IS4
T R iEthe TR

C) Deoxyribose sugar, ribose sugar and

phosphate group/ ST3TFERTSSIST 2T,
SISt AT 3R BIEhe THg

D) A nitrogenous base and phosphate group

onIy/WHB@WWﬁTWW

NUCLEOTIDE

I
9
i
o)

N i o o i o

O )2

Phosphate
Group

Sugar

i
1
a Base
™ Pentose
i
1
i
]
]

....................

A polynucleotide chain, such as DNA or RNA, is
composed of three components: a nitrogenous
base, a pentose sugar (ribose in RNA and
deoxyribose in DNA), and a phosphate group.
There are two types of nitrogenous bases:
purines (adenine and guanine) and pyrimidines
(cytosine, uracil, and thymine)

Teh Tl g {FeIerss Saell, S SIT=AT J7
HRTAT, AT Tl & FoA1 @Il &: Teh
ATSEISTAH 9, Teh Y1 IR (HRTAT H
atet AR ST 7 SR, 3R Th
BIEHE HHE | ATSEISITd TR & WehX o gl
g T (Usforet 3R ap3nfae) iR arsdfAsey
(ETgIfae, I 3R arsiae)

21.RNA is different from DNA because ............
RNA, DNA ¥ 37el9T & Fife.......... |

A) RNA is single stranded

B) RNA has uracil

C) RNA has the sugar ribose
D) All of the above

22.What is full form of RNA?
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DNA &7 & T T8 ?
A) Ribonucleic Acid

B) Ribonitric acid

C) Ribonutrient Acid

D) Reverse Nucleic Acid

23. The process of copying genetic information
from one strand of DNA into RNA is termed as

STV o Ueh T¢3 A 3TRTAT H 37To]d Rk
TRy T gfaforf s=rer i gfshar i agr
ST

1) Translation /3-1?13313

2) Transcription /Ifcel@eT

3) Replication /Qﬁfﬁ

4) Mutation /3caRadsT

Sol-

The process of copying genetic information from
one strand of the DNA into RNA is termed as
transcription.

SITTU & Teh T3 W 3T TRI STTeTehRT T
3TRUAT H YT et T GTshAT ST STt
FET AT S|

24. Which of the following features of DNA
makes suitable to store and transmit genetic
information from one generation to next?

ST i fArafaf@a # & sle A [aQrwar
TR STTeTeh T T Teh WIEN & GET HET eh
T 3R TRt e ¥ PN S e
g?

1) Double Helix/3sdl gfolaa@

2) Bridges between bases /ma?é’ﬁr@?or

3) Number of base pair turn /ST YW T T
qear

4) All of the above /390 Y

Sol-

Double helix structure of DNA transmits genetic
information from generation to generation and
the process is called semiconservative process.

SITT T Sl & forerd T U1 & WigT deh
3T fRIeh STTeAerRT FHTRE Xl § R 58
wfshar &l 3re-wfeardy ufhar wgr arar g |

25. The hydrophilic nature of DNA is due to the
presence of:

AT I Fregiisies e Hr ufeufa &

FROTE:

1) thymine base /IR 9

2) deocyribose sugar /'s?fmm QT

3) a number of hydrogen bonds /H%B‘IBE’IGH

CIES

4) phosphate group /WW

Sol-

o  DNA which is the main responsible for the
genetic properties is a chemical structure of
the genetic molecules. It is a two-strands
structure, which is known as a double helix.
The split of DNA is called gene and DNA is
found in the chromosome. In nature, the

DNA is hydrophilic due to the presence of
phosphorus in phosphodiester bonds.

o 3eTafR ot & fov Hea wu @ fSFAer
SITTU 3TeTd R1eh U131 hr T T
T § | I Uah Q1-¥¢8 TaaT g, fod
o gl & 9 H ST ST § | 30T &
TSIt Sl SiteT gt ST § 3R Sreare
SHIATAIA # UTT STl & | Tepic &,
HIEHISEEET 915 F BIERRY F 3ufeafa
& VT ATAT g8 fbaren &1

26. In which of the following DNA is found?
farafafaa 7 & fora Sivav & arar sar g
1) Cell Membrane /3ITrerT Beell

2) Ribosomes /TSI

3) Golgi Appartus /3NealT 3THIOT

4) Nucleus /qu

Sol-

e Most DNA is located in the cell nucleus
(where it is called nuclear DNA), but a small
amount of DNA can also be found in the
mitochondria (where it is called
mitochondrial DNA or mtDNA).
Mitochondria are structures within cells
that convert the energy from food into a
form that cells can use.

o 31T STuAT FIRAFT & gk (8758
TRATY] STV gl ST §) & AT BT,
eifeheT STUTT I T BIET AT
ATSIhI =T 3 ¢ ITS ST Hehcll & (76T 34
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HATSCIHhife 5ol STV AT UHAEISIUAT gl b) Multon / FJEtsT
ST ) | FATSTIehITe5T IR & I’ c) Intron / 3A¢I
T TIATT § ST HISTeT T St bl 38 T d) Exon / TeFatleT
¢ ik hich of the foll
. 29. Which of the following is not present in
FERCAE | DNA?
IR y S - Ly
27. The basic unit of a DNA is AH A S T &
DNA@TH\F{EH?F‘%% 1) Adenine /TS
1) Amino acid /3/#=I Tfas 2) Guanine /3dTel
2) Nucleotide /r?J‘\?FIZIIE Ss 3) Uracil /3, e
3) Monosaccharides /AAAaISsd 4) Thymine /2STHA
) E— Sol-
4) Nucleoside /< ~ e The information in DNA is stored as a code
Sol- made up of four chemical bases: adenine
Siostihels - (A), guanine (G), cytosine (C), and thymine
o (T). Human DNA consists of about 3 billion
— bases, and more than 99 percent of those
bases are the same in all people.
o INTATH AHARRI IR TAA A HTURT &
A,G,CorT ¢ o
§Y IS & T H FILT gl & e (),
odeoxyribose sugar oribc 3;[3-1@?{ (ST, IEa@e (), 3R arsfaa
(&) | ATAT STAT H TITHT 3 3RS AR
DNA F BT, 3 313 & 99 eI & 3H
o A nucleotide is the basic building block of IR T A H AT A

nucleic acids (RNA and DNA). A nucleotide
consists of a sugar molecule (either ribose in

) ) 30. Permanent changes to the DNA or other
RNA or deoxyribose in DNA) attached to a

genetic elements is known as

phosphate group and a nitrogen-containing . .-
base. The bases used in DNA are adenine ST AT 3w T 3Te]dIRTeh dcd # Frh
(A), cytosine (C), guanine (G) and thymine Qﬁaéﬂaswﬁmm%
(T). 1) DNA replication /31UsTU Qﬁqjﬁf
~FerAess g fFoes TS (3IRTAT
* g N NeFereh TRIS ( 2) Mutation /3cafadst
)q;r;‘?r TSl QHT 3) Recombination /gaﬁu’la?r
EETC D A EES Bl . .
R i had 3-]'01.(2:[T 4) None of these /3131 & IS Aal
RTAT H TSIl AT TATH Sol-
SI3TTRARTSETST) Bl & il Teh BIEhe HHE e Permanent changes to the DNA or other
mewmﬁmm | genetic elements is known as mutation.
T 2 2 % They result from the damages to DNA or
SITAT A 3T fhT SiTeT aTel 3TER errors during the DNA replication. DNA
vsfae (1), asef@e (&), arfae (i) 3k replication, in molecular biology, is the
= : process of producing two identical DNA
@&l replicas from one original DNA molecule.
28. The coding segment of DNA is called in- ¢ RIELERE 2 ¥Ieh e ] A3
DNA ST T TS T FEaTeT &2 R ST SCARE & &9 H ST ST
a) Codon /a@I8IeT HJEELEI aw’rﬂ_,wamélnae Qiaaji?—la?
aRTeT el & TRUTATERT gl & |
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3oTies She faairet # SIvet gfasid, th
el STTAT 3T F & FATT STTAT
BISEARRIECICEIRIER IR

31. The two strands of DNA are held together by
DNA & Y Toof 39 3 of3 e &

1) Hydrogen bond/g 53 ST 918
2) Covalent bond/TgddTeTeh S¢TeT
3) Electrostatic force /SolFeIECiedh ST

4) Van der waals force /3<T 3T aTed BIY

Sol-

e The nitrogenous bases present in the DNA
are purines and pyrimidines. Purines are
double ring while pyrimidines are single ring
structure. Adenine and guanine are purines
while thymine, uracil, and cytosine are
pyrimidines. A purine is attached to
pyrimidine by hydrogen bond. Adenine is
attached to thymine by two hydrogen
bonds while three hydrogen bond is present
between guanine and cytosine.

o ST H Al[E AT 5 LA 3R
ARSI § | TGt Sael RAT BT § Saiieh
ars{ifAsE e Rer axaer gia g1
wsfaet 3R varfaer et § Srafes amsfa,
I8 3N Arsel & arsdifAsE &
gIS3Iole] &S GaRT TSRS & Ueh Tg{iel
SISTBIAT ¢ | TSTaiet UrsTieT & & grsgieret
Str 7aTfelet 3R Arsa e & v Alog gar
gl

32. Which shows a correctly paired DNA
molecule?

A) A=T

B) T=C

C) A=C

D) T=G

33.Which of the following is not found in RNA?
o797 RNA & 3T oT&T 91T 7Tl &

A) Adnine

B) Guanine

C) Cytosine

D) Thymine

34.Which type of protein is found in DNA?

DNA 3 ST AT N 91T ST &
A) Renin

B) Heparin

C) Histone

D) Keratin

35. The DNA molecule has uniform diameter
due to

DNA 39T T ST THHHTE et o HROT

A) Double strandedness /38eT T¢SH

B) Presence of phosphate /PiEhe T 3ufeafa

C) Specific base pairing between purine and

pyrimidine /ST AR IISATASTT & o

fafRrse 3R gaa=t

D) None of the above /ﬂmﬁﬁ?ﬁéﬂﬁ

Sol-

e DNA molecule has uniform diameter due to
specific base pairing between purine and
pyrimidine. In DNA, the bases adenine and
guanine form hydrogen bonds with their
complementary pyrimidines; thymine and

cytosine, respectively, this is called as
complementary base pairing.

o U IR UHfAS & o= fafse s7
AGRAT o HRUT STV 30 T ITH Teh
AT gl ¢ | 3T H, R wefaa 3R
TaTfeeT 379 e ISATASNT & ATy
gIS3IoTe 918 Fel1d &; ATS (AT 3R
WIS TA, FHA:, SH e 3TUR JIAA
HEl ST g |

36. What is the full form of RNA?

3RUAT T qOT &G T §?

1) Ribonucleic Acid /TTSsiieg eFoleh TS

2) Ribonitric Acid /T4l ﬁii% tfas

3) Ribonutrient Acid /qlsaqu\ia tcufls

4) Reverse Nucleic Acid/ﬁﬁﬁﬂlmﬂﬁg

Sol-

e Ribonucleic acid (abbreviated RNA) is a
nucleic acid present in all living cells that
has structural similarities to DNA. Unlike
DNA, however, RNA is most often single-
stranded. An RNA molecule has a backbone
made of alternating phosphate groups and

the sugar ribose, rather than the
deoxyribose found in DNA.
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o TSI fdoreh TS (HiETT IRTAT) Hair
Shfaa fRe3it 7 Aisig v =gfFers
s § foge Svav fr TRa=cas
HHATAATTE glcll & | S0AT o faulid, gretife,
3RUAT T 3110F aR Thel-HA AT |
Teh 3TRTAT 370] H SITAT A 91T 11 aTel
3TFERTSIST & Tl TT-TRT T BIThe
gl 3R A TS & 61 v Jg e
gl

37. In eukaryotic cells synthesis of RNA takes
place in the

Th R HITRARIT H HRTT T HRATOT
BT g

1) mitochondria /HATSCII l=gT

2) centrioles [hogeh

3) ribosomes /TSSTATH
4) nucleus /dgan

Sol-

In eukaryotic cells, however, the two processes
are separated in both space and time: mRNAs
are synthesized in the nucleus, and proteins are
later made in the cytoplasm.

TR PRI ¥, 1o, o whmarsit
1 3ARET 3R AT At 3 3rerer T STar g:
THARTAT AfHE H GANT g1 8, 3R T
G H AScICaleA H Seld g |

38. A basic event in protein synthesis is the
creation of

SIENST HOIYOT & Ueh FIAITET e T AT
1) DNA copy/31TsTT shIdY

2) RNA copy/3TRUsIT &hidr

3) MRNA copy/TH3TRUAT SHrdr

4) DNA and RNA copy/3TTsTT 3R 3RTTT Shidr

39. Mutation theory of Evolution was given by?
Taehrer 1 ScaRarciet Fierid fanereh gan fear
AT UT?

a) Darwin/sTfdeT

b) Lamarck/oiHTR

c) HugoDe vries/%'ﬂ?ﬁ'sﬁa}ﬁf

d) Huxley/gFger

40. Change in the base sequence within gene is
called?

ST o 3T 8T 31efshal A IRt Sgellell &2
a) Breeding/ 9olalel
b) Cloning/@elifaiar
c) Mutation/B?qméH
d) None of these/STHADRISAGT

41. Who was first to discuss “Evolution of life”?
"Shraet &7 faehra IX ral el daTel Ugel hiel &
a) Newton/sgcel
b) Darwin/3TfaeT
¢) Lamarck/otHTH
d) Hugo De vries/@jﬁé’faﬁf

42 List A
List B

A. Theory of mutation / 3caRadel & fcuid
1. Beadle and Tatum/ 151 3R &cH

B. Theory of Evolution / faerra &1 fgernd

2. Jacob and Monod /e 3R AlIE

C. One gene one enzyme/WGﬁHWW
3.Darwin hypothesis /31{dsT IR&TAT

D. Operon concept/ 3{TRIeT 3TTEIRUTT

4. De vries/ 3T daT

o0 w >
Wk W~

B
3
2
4
4

NW#HO
|—\N|—\NU

43. Mendel conducted his famous breeding
experiments by working on:-

HSoT o 39 ITACH ToTeled T fdest T amrdy
W?W;-

(a) Drosophila /3T el

(b) Escherichiacoli /TR IaTepelr

(c) Pisum Sativum /mﬂ@ﬁ@ﬂ

(d) All of these /&Y
Sol-
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e Mendel conducted his hybridization
experiments on the garden pea.

e He began to search around 1854 in the
transmission of hereditary traits in the plant
hybrids.

e He used peas due to its distinct characters
and varieties and because of the offspring
which quickly and easily gets produced.

e Pea, (Pisum sativum), also called garden
pea, herbaceous annual plant in the family
Fabaceae, grown virtually worldwide for its
edible seeds.

o ol o HeX oh T3 IR 3TYeA HhIOT AT
Tl

o 3cglel 1854 & THYUTH UIGH TR H
ARATITT F&TUTH & FEROT T WIS Y& I |

o 3oglel HEY I YA 3T TS oretolt
3R foreAT & HROT 3R Fd=AT & FROT
R St STedT 31 3TATET & 3T g ST
gl

o A, (Tga dAfean), 50 e 7eT 8
gl ST g, hadlT IRaR # erergry arf¥e
qiter, 379 @ie el o foIT sasTer gfvar
9T & 3T ST & |

44, Mendel worked on

H ol o A fohaT
(a) edible pea/ WIcIHY
(b) wild pea /STATelT#HET
(c) garden pea/3cITTHCY
(d) pigeon pea/31{gclel

45. How many pairs of contrasting characters in
pea were selected by Mendel?

Arsol o A & 9 H fohadsy aig & fQawA

eTT hr ST gafaa Y 2
a)7
b) 3
c)4
d)2

46. Mendel's principle of inheritance are based
on:

ﬁ%ﬁwmwmﬁrﬁwm%:

A) Vegetative reproduction/amqaﬂﬂ
B) Asexual reproduction/ﬂﬁﬁla?‘;lﬁ?lﬁ

C) Sexual reproduction/a 3T Yotetet

D) All of the above/39d T

47. Gregor Johnn Mendel is famous for
propounding-

IR SiTeT Aesel fore 3raemron fagwid & fordr
gflcu g?

a) Theory of Mutation /B?Clﬁ_d?fl?fﬂﬁaﬁﬂﬁ
b) Laws of Heredity / Hﬂﬁﬁﬁ?ﬁ'ﬂﬂ

c) Cell Theory / HifAhT arg

d) Theory of Acquired Characters / TSFdII{S
SA&TOTT ahT TR

48. Miller and Urey performed an experiment to
prove the origin of life from organic compounds.
The gases they took were:-

fAeR 3% 3% 1 sraiferen FifaTent & Siaer 1
St 1 RigH et & for Te sitar k|
3ogiel off 314 off I &f: -

(a) methane, ethane, ammonia, water vapour
/T, 3, AT, STer arsa

(b) methane, ethane, hydrogen, ammonia
/I, $3, gIS3IeTe, AT

(c) ammonia, water vapour, butane, hydrogen
/3ANT, STt aTsy, s, BISgIotel

(d) methane, ammonia, hydrogen, water vapour

[FYAS, 3ATAT, ETSZISTeA, STeT arsq

Sol-

e The Miller—Urey experiment (or Miller
experiment) was a chemical experiment
that simulated the conditions thought at the
time to be present on the early Earth and
tested the chemical origin of life under
those conditions.

e The experiment used water (H20), methane
(CH4), ammonia (NH3), and hydrogen (H2).
The chemicals were all sealed inside a
sterile 5-litre glass flask connected to a 500
ml flask half-full of water.

e The water in the smaller flask was heated to
induce evaporation, and the water vapour
was allowed to enter the larger flask.
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e Continuous electrical sparks were fired
between the electrodes to simulate
lightning in the water vapour and gaseous
mixture, and then the simulated
atmosphere was cooled again so that the
water condensed and trickled into a U-
shaped trap at the bottom of the apparatus.

o THCR-3Y 9T (AT TR wAT) Tk
AT ¥R I AT [Tl 39 AT
aR e s oS gedt ) Alsg gt
o fore arar a1 3R 3o aRREufaat 7 Sfas
FI AT IR STl T GRIETOT fohaT 2T

e  SIANRTH UM (H20), H1AeT (CH4), 3T AT
(NH3) 3R 8T88ISTe (H2) &7 SEQAT fhar
1T | Y THRIAT T Teh S1ST 5-al1e I
TFelTEeh o 3 el o [T a1 2, it 500
TAeNET FelTEeh & JTUT It & ST 7|

o ATSYIHIOT I URA FA & foT BT Felleah
F 91eAT 313 Toham arar 2T, 3R STer arsg @t
T3 TFelTEeh H TaeT et fem aram |

o STeT arsq 3R A FAsoT 7 forstelt r
IHeTeIUT el & ToIT SIS o ol follell
fareger il &t fveprer fem aram o, 3k
AT Aehell aTaTaRoT AT AT & ST foham arar
o7 d1feh greit Fafad gt 3R 3ueor & A
I-3HTehR o SiTel H &8 ST |

49.A nucleoside is composed of —
A) A base + a sugar

B) a base + a sugar + phosphate
C) a base + a phosphate

D) none of these

50.DNA is present in

A) Nucleus only

B) Nucleus , mitochondria, and ER

C) Nucleus , mitochondria and chloroplast
D) Nucleus , mitochondria and RER

51. The terminal end of a chromosome is
called

T[UTHA o ETHeTol FOY T gl ST §
A) Centromere/deglTHIR
B) Chromomere/shIATHIT

C) Telomere/TcallAY
D) Metamere/ATTAX

Nucleus

Telomere

52. Number of autosomes chromosome in
human sperm is

AT YehI0] & T JOrgH
AT I &

A) 11

B) 22

C) 44

D) 45

53. A gamete contains which of the following?
Teh oA H eIl H & hleT ATEIT &7
a) Both alleles of a gene / Glll Ueh Silel o
Tolled

b) Only one allele of a gene /T SiTeT T hael
Teh Tellel

c) All alleles of a gene / Teh ST o Y Telled
d) No allele of a gene/?ﬁéGﬂ?—rﬂﬂ?ﬂﬂﬂﬁ

54. A male child will be born if -
Teh 71X =T UeT g1aTm 3191k~

a) Father is healthy/1:EI?-|TQ—HQ:QI%¥
b) Mother is well fed during pregnancy /

ITHTIEAT F ST AT i 375 RE I T@erar

AT e
¢) Genetic composition of child has XY set of

chromosomes / ﬁﬁ%ﬂﬂ%ﬂﬁmﬁ
IOURLET HXY AT E

d) Genetic composition of child has XX set of

chromosomes/aﬁ]aﬁrmﬂﬁﬁ?mﬁ
IOTEAT T XX HE B
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55. Which one is not vestigial in human beings?
Heysd A e @1 AfTeforTer gt &2

a) Plica semilunaris/mm

b) Coccyx / IFHTFT

c) Wisdom teeth / 3T&hel &5

d) Epiglottis / i

56. Chromosomes are made up of -

HIATAH T 1 gl &-

a) Proteins / 9IEieT

b) DNA/ 37T

c) Both (a) and (b) / A 3R B &l=i1)
d) RNA /3IRTIT

57. Who proposed the laws of heredity?
T TRl & o a ol T fohdtet T@m?
a) Darwin/ STfaeT

b) Mendel /HSel

¢) Morgan/&T3TeT

d) Dalton/ STecel

58. Male human is represented by sex
chromosomes

TN ATeTd T Gl eicd Ao ShIANGIH GaRT

TS
a) Xy

b) XX

c)yy

d) XYY

59. Which of the following was not present in
the free form in the primitive environment?

rAfaf@d & O &l ar 3nfes arareror &
HeF &9 H Ao =TET AUr?

a) 02

b) NH3

C) 02

d) CH,

60. Organs of different groups of animals having
same organ but performs different functions are
called

STTeTaRT o TaTSie! FHgT o 3791 Teh &1 397 arel
a) Primitive organs / 3Tf¢aT 37aT

b) Analogous organs/mm
c) Vestigial organs/E(I_'Gl'UTHTﬁ
d) Homologous organs / TSI 37137

61. Which form of structure has been adopted
by RNA?

IRTAT GaRT fh e EITAT T AT AT 52
a) Eugenics / gaﬁw

b) Morphology /HTthielsir

¢) Genetics/SiaiTearg

d) Physiology/ ThfaraTeirsir

62. A pair of contrasting characters is called
RS TR i1 Tk o) T T ST R

a) Phenotype /ﬁﬁ-ﬂ?:lgq

b) Genotype /Gha’lagcr

c) Allele /Telrer

d) Gene/SireT

63. A plant heterozygous for tallness is self-
crossed, the F2 generation has both tall and
dwarf plant. This proves the principle of

AFETS S TIT faveT urey Aoh-p1es &, F2 9T
& 91 ofer AR Sl der g a8 Rgg axare
a) Dominance / 9HIT

b) Purity of gametes / W?ﬁ RICErdr

¢) Independent assortment / TS HaheleT

d) Incomplete dominance/3-l'fj'\Usr§r8TI'q’

64. One of the following represents a
monohybrid cross:

et 7 & v Alereies s o yfafafica

WT%’:
a)9:7
b)3:1
c)1:1:1:1
d)9:3:3

65. Humans have two different sex
chromosomes, X and Y. Based on Mendel’s laws,
a male offspring will inherit which combination
of chromosomes?

HISIT A &Y 3elaT-3elaT folaT UT g1 8, X
3R Y| el & AIHAT & MR T, T 77
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HclTeT T JOTHET o el T HATSTT T 7
IGEEIR

(a) both the X chromosomes from one of its
parents Mﬁwwmmﬁmﬁﬁ

T d
(b) both the Y chromosomes from one of its

parents /aia%aléwmmﬁmﬁﬁ

T d
( C) combination of X chromosomes from either

of its parents /379 ATAT-AAT H & R T &
T IURLAT T ATl
(d) combination of X and Y chromosome from

either of its parents /3791 ATAT-TIaT 7 & fohar

Teh W TR 3R TS JURL T FAVsfel
Sol-

X-Linked Disorders

Unaffected father Unaffected,
carrier mother
Dominant =@ 08 = X-linked,
allele recessive allele
XY XX
[[] Affected
[] unaffected

[ carrier
[ | 'l
XY XX XY
Unaffected  Unaffected Affected Unaffected
son daughter son carrier daughter

e In humans and other mammals, biological
sex is determined by a pair of sex
chromosomes: XY in males and XX in
females. Genes on the X chromosome are
said to be X-linked. X-linked genes have
distinctive inheritance patterns because
they are present in different numbers in
females (XX) and males (XY).

o HISUl AR 37T TATRT F, Sifdes doF|
[ IANAIA HT Teh NS GaRT ek
feham STTelT & st & Xy 3R Afgem3it 7 xx|
TS IO TR it Sl ToFH-oiers gl
ST & | Tord-folers SiteT # fafarse gemegshar

Yot g1t § it & A3t (xx) 3R st
(XY) 3 3TelaT- 37T &A1 H AlSE g1 8|

66. What determines the sex of a child?

g # folar &1 fraRoT et e 82
a) Chromosome of the father /Rarar
o
b) Chromosomes of the mother / ATAT
T
c) Rh factor of the parents /31fsTTas

ol Rh sh{eh
d) Blood group of the father /

[EGIEDRC TS

67. Which of the following is the correct pair?

rrRad TR R TN
(a) Darwin/3TfdeT : one gene one enzyme/ T&h
SiieT U Tals

(b) de Vries/ YA : linkage theory / foleruaT
g

(c) Lamarck/oldTeh : Use and disuse of organs/
3191t 2T 39T 3R gr3ureT

(d) Haldane /&1S<T : Law of heredity/

HTTATRIRAT T fze

68. Gynandromorph is

EQIC N

(a) male with female traits/ ATgET ST&T0T & T
Y

o)

(b) female with male traits/ gwarawﬁaﬁr
Afger

(c) half male and half female/ HTQTEJ}W&T‘T
e Afger

(d) None of the above / 3URIed & & IS AGT

69
(1) Mother may be carrier for haemophilia. VK1)

gARRToraT & forT atgsh 81 FehaT &

(B) The father can be carrier for haemophilia. /

rar AT & AT args @ Gehar &1

Which of the following statement is correct-

(a) 1and 2/ 131X 2
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(b) ONLY 2/ shdeT 2
(c) ONLY 1/ahdef 1
(d) None of these/ IS sTgT

70. Which of these is a pair of an analogous
organ?

SoTH T ot AT HHATH 3731 T JIH g7

(a) wings of a pigeon and a bat /WEWSK!TE!-ﬁT
Teh IHINGS & 99

(b) forelimbs of a frog and a bird /T Heah 3R
Teh &Y & 37arsATeT

(c) forelimbs of a rabbit and a lizard /Teh @IINA
3R T fBaahelt & 3rarsmer

(d) leaves of a pitcher plant and a Venus fly trap
/T T3 & G AT g 3R U 91T Folls ou
Sol-

e Bird and bat wings are analogous — that is,
they have separate evolutionary origins, but
are superficially similar because they have
both experienced natural selection that
shaped them to play a key role in flight.

o T&T 3R THIGS & 98 AT & - 31,
AT &9 A HATS § FlTeh SeTah I
STehfceh T+ T 36734 & Tordel 3o 35T
H HEcaquT SRR [FeTTeT & foIT 3meh
el

71. A zygote which has an X-chromosome
inherited from the father will develop into a:

T Sigee Iorad far & favraa A Ao e
TFH-IONLA BIcll &, I Taoh & gIam:

(a) boy /oISt

(b) girl /oTgehT

(c) X-Chromosome does not determine the sex

of achild /TFH-SRTATATH ST o feldT T

feRoT A8 Fear g

(d) either boy or girl /3T AT TSI AT AShT

Sol-

e Ovum carries X chromosome, whereas
sperm can carry either X or Y chromosome.
The genetic makeup of a female is XX and

genetic makeup of male is XY. Therefore, if
the zygote is formed by receiving the X

chromosome from the father, the resulting
zygote will be a female.

o TETHAXIUREEIATE, STafeh YHoT A X AT
Y UL &1 Fehl § | Teh AfgeTT 7
SR AR XX & 3T 1 IS
HAR XY &1 3ATAT, AT e & X oRgE
e lel § JaHeToT Selcl &, Al TROTHT
GIAAST T Afgell gref|

72.
(1) In humans, female sex is determined by XX

chromosomes. /HFJ’WYT #, Afger dFa xx

U SaRT eI fehar STem gl

(2) Male sex is determined by XY-chromosomes.
/T TFH XY- ShIATAIH SaRT freRe foram
ST gl

Which of the following statement is correct-
frafof@a A asla maryaad &
(a)1and 2/13iR2

(b) ONLY 2/ &hdef 2

(c) ONLY 1/ahddl 1

(d) None of these/ aﬁéa‘é’r

74. Down's syndrome is due to/ E'Bﬂﬁﬁl?:raﬁr
FROTEIAT

(a) chromosome number increase in 21st
pair autosome /
2141 SIS JHTEHEH #H 0T IF Fear H
geier

[ANS
(b) chromosome number decreases in 21st

pair autosome/
219 SSY ITEIEH H JURLT TEAT T
EICIN

(c) chromosome number increases in 18th
pair autosome /

184t ST 3ATeraH ﬁ?rcrm—;ra Ekireull
Jedry

(d) chromosome number decreases in 18th
pair autosome /

18 dt STt 3T # JUrgT H&ar ae
ST g
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75. What is the probability that the male
progeny will be a boy?

a1 WfAshdr & foh s Hafa ez grem?

(a) 50 %

(b) 56 %

(c) 47.43 %

(d) It varies

50% probability that a human progeny will be a
boy.

50% THTITT & foh Teh AT ATl Ueh oISl

gram|

76. Exchange of genetic material takes place in:-

3T R1eh TeTe AT 3MTeTeT-TeTet Blell g

(a) Vegetative reproduction/a€afd Yolalel

(b) Asexual reproduction /37l Ustetet

(c) Sexual reproduction BIGR RG]

(d) Budding /afsaT

Sol-

e Sexual reproduction is a method of
reproduction which requires the
involvement of two parent.

o During fertilisation, the fusion of haploid
male and haloid female gametes takes place
which produces a diploid zygote.

e This results in the exchange of genetic
material.

o Tl Yot Uotelel S v A g fSrwei ar
HATAT-TAT T HIENERY T 3TTTHdT gIedT
gl

o YT % e, 3O o iR Raitss
HTCT GIHDT T HeldeT BIcll & i eidalioTe
IHST T FAATOT FAT B |

o FHS IRUTHTIRY 3T I AT T
HETA-ETT Bl B |

77. The peptide synthesis inside a cell takes
placein,

IRAHT & 37T T3S HIAYUT Bl &
A) Ribosomes/ITSarTH

B) Chloroplast/FeRICaITEC

C) Mitochondria/HTSC Sl l=gaT

D) Chromoplast/shTAICHTEE

Sol-

Protein synthesis is carried out by ribosomes on
a mRNA template. The mRNA carries genetically

coded information for protein synthesis which is
translated by ribosomes.

HIETT HTOT USTHIH GaRT mRNA SFTele IT
T3 ST & | THIRUAT WETe HerwoT & forw
3HTeTaR1eh & § IS SATeTHRY TWelT & Frereht
3eTATE SSANH EART fohdT AT §

78. Those organs which have the same basic
structure but different functions are called

o 3797 TSTeTehT # el HITAT HHTA Blcil & ol feheT
(a) Vestigial organs/37aferse 37aT

(b) Analogous organs/3—1?__|3€q3-i?T

(c) Homologous organs/Wqﬁ?T

(d) None of these /saﬁﬁaﬁéa‘é‘r

Sol-

e Organs that have the same internal
structure but perform different functions
are called homologous organs. The
presence of homologous organs in different
organisms indicates that they have evolved
from a common ancestor. Example:
forelimbs of humans and lizards.

o T 337 foIeThY AR EITAT AT Bl &
FgaTd ¢ | Taffeet Siat & Ty 37em &
3ufeufa sfa wedr g fr 9 ves g
gaoT 8 Tashfad gU & 3eTeior: Aeqsat 3R
fueserdt & 3rrarg |

79. Gene for colour blindness is located on
(a) Y-chromosome

(b) 13th chromosome

(c) X-chromosome

(d) 21st chromosome

80. The absence of Y-chromosome in human
beings causes

(a) Turner's syndrome

(b) Klinefelter's syndrome

(c) Down's syndrome

(d) No abnormality

81. Consider the following statements
1. Allosomes, i.e. chromosomes which are
responsible for determination of sex, e.g. X and

Y-chromosomes. / T4, m?ﬁw S
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ol freRor & T oFAeR g &, S x 3y
IUTHA |

) N

2. Autosomes, i.e. chromosomes, which have
determine the somatic characters./ﬁm,

I AU, it Sfgeh T frefiRor vt

Which of the statement(s) given above is/are

true? / 3R fCU T FY=T H A FlT AT/ T
e/d?

(a) Only 1
(b) Only 2
(c)1and 2
(d) None of these

82. Which of the following is sex-linked in
heritance? / Rfaf@a A a sl arduaa #

forer-wefaa &

(a) Thalassemia / Serfa=m

(b) Phenylketonuria/ﬂiﬁlﬂaﬁﬂm
(c) Goitre/ ITUSHTCT

(d) Haemophilia/ﬁﬁl’cﬁﬁ'ﬂT

83. Assertion (A) Mendel worked on garden pea
(Pisum sativum). /ﬁ‘s;arﬁm?rm (e
Afeaa) R A faa|

Reason (R) Garden pea belongs to family-

Graminaceae. /mmmﬁﬁ@rmﬂ@r
Feafaa gl

(a) Both A and R are true and R is the correct
explanation of A/ A 3IRR a’la’fw%*sﬂ? R, A
T TET TEAT §

(b) Both A and Rare true, but R is not correct
explanation of A / A 3R R Gl I &, afhaT R,
AT TgT SATEAT AT &

(c) Ais true, but R is false/ A GcT &, Wed R
HATE

(d) A is false, but R is true/ A 37T &, TW=d R
g

84. Assertion (A) Haemophilia never occurs to

women. / STATHITIT Feft o ATGT3T &1 8T
g g |

Reason (R) Gene for haemophilia are found in X-

chromosomes. / STATHITSIAT & SileT X-SpIATETT
HUU AT
(a) Both A and R are true and R is the correct

explanation ofA/AﬁTRﬁﬁW%&ﬁT R, A
Oy TR

(b) Both A and Rare true, but R is not the correct
explanation of A/ A 3R R & I &, feheT R,
A I HE SATEAT 76T ©

(c) Ais true, but Ris false / A GcT &, oifasT R
AT

(d) Ais false, but R is true/ AGT §, fR?of R
HETEI

85.
Assertion (A) The genetic complement of an

organism is called genotype. / TR Sha &

T TRIeh Tk T SATAICISY &gl STl ¢ |
Reason (R) Genotype is the type of hereditary
properties of an organism. / oI CEE! e shia
o RT3l AUTT hT JehR & |

Codes

(a) Both A and R are true and R is the correct

explanation of A/ A 3IRR a’la’fw%*sﬂ? R, A
$rogrcarEarg

(b) Both A and R are true but R is not the correct
explanation of A/ A 3R R &= G & fdhaT R,
AR T TrEAT AR &

(c) Ais true but R is false / A TcT & oifeheT R
IATE

(d) A iis false but R is true/ A 37T & offeheT R
e

86. HYV refers to —
HYV T qUT &9 T 7

a) Hybrid Yielding Variety / §T5Tsi8 o9
CRRNE

b) Human Yellow Virus/%'q\??ﬁaﬂ)faw
c) High Yielding Varity / TS SfesaT SIRTSET
d) Human Yellow Vaccine/@@ﬂwmﬁ

87. The term ‘GM food’ refers to the food-
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‘GM food’ 2Teg; fhe g & HisT yard &
qafd g?

a) That grows under genetic measures /S
3TeTATIRY T 3UTAT o o7& IR AT g3 &l

b) That is genetically modified /GﬁB—T@G‘iﬁTEﬂ
SR KIS

c) That grows under geographical modification /
St silenfores &9 & dAifaa R s gr

d) With greater glucose metabolism A

TEIERIST T ST ITIEANT &Y

88. How many chromosomes are present in

human cell?/ Wﬁ%ﬁmﬁw
AlSE Bl &7

A.40

B. 46
C.23

D. 20

89. Chromosomal constitution in human females

can be best written as . Al

Afgen3it 3 AURTART T Y FaAfdA FT
& &9 # for@r ST FeraT g |

(a) 46

(b) 44+2

(c) 44A+XY

(d) 44A+XX

90.The term chromosome was coined by

(a) Sutton/cel

(b) Boveri/STaRT

(c) Waldeyer/dTeeux

(d) Hoffmeister/gI TFHASER
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